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35 19,000 mg/l = mg/I
17.2km
0.5m 6 | 1,008 9,790
im 7 | 1,208 | 13,700
2m 6 | 2638 14800
mg/| 3m 7 | 5069 | 14,900
4m 6 |5491 | 14,900
5m 7 | 6503 | 14,900
-05m | 7 | 6,204 15000 16
0.5m 00 | 19 | 180 4sm - om
im 00 | 24 | 252
2m 00 | 49 | 273
3m 00 | 93 | 274
4m 00 | 101 | 274
5m 00 | 120 | 274
-05m | 00 | 114 | 276
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mg/| 11 25 34 10 | 6,041 | 13,900 | 70 [ 8,500 | 14,900 16
ms/m 18 30 51 19 | 1,725 | 3,820 46 | 2,315 | 4,040
00 |00 |01 |00 11.1 25.6 0.1 15.7 27.4
1
1
/\H r/ Jam Jam >
_/ U _/
14
3.5km
mg/| 31 | 50 69
ms/m 33 37 39
01 | o1 0.1
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2 2m
14.2km
ma/l 0.5m 140 8,000 16,000 | 1,200 9,000 17,000 15
g 2m 310 11,000 | 16,000 | 3300 14,000 | 17000
0.5m 0.3 14.7 295 2.2 16.6 313
2m 0.6 20.3 295 6.1 25.8 313
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